Considering a Theory of History
Name
'   Lecture by Dr.       Diamond, UCLA                World History
Professor Diamond has presented an interesting approach to history and the development of the human community. His theory is one of many proposed by prominent scholars (Dr. Diamond is a scientist - biogeographer and evolutionary biologist), as they attempt to explain how and why certain human patterns emerged in particular cultures and not in others.

We will explore Dr. Diamond's theory. Each group will "teach" that component of this theory by outlining his main points and presenting them to us, allowing for class discussion on each of his topics.

Part One: Around the World in 40 Minutes:
The Essential Question (problem) presented:

Other sciences that have contributed to his understanding of this problem:

Proposed Theme:

We know that:

Eurasians:

Africans:
Original inhabitants of Australia, Americas, southern Africa:
Puzzling question:
Beginning in A.D 1500. great differences already existed:
Iron Age States/Empires:
Stone Age Societies:
Agricultural/Hunting-Gathering Societies:
These differences were the "immediate cause" for
Conclusion: Empires with                    conquered

Why? Some help from histories / archaeological discoveries:

While some places remained in the Stone Age, Eurasian peoples:

Rephrasing the Question:

The Conclusion of an alien historian who would visit the planet 50,000 years ago:

Why would he make the above conclusion? Why won't Dr. Diamond talk about IQ? (One group of people being "smarter" than the other)

Why could New Guineans "probably" be "smarter" than Europeans and Americans?

Reverse of the racial/intelligence question. Now we ask:

Dr. Diamond attempts to present a "convincing alternative" to the racist theory.

Part Two: Why did a few hundred Spaniards overthrow the Aztecs and Incas?
First Continent to be visited is:

Collision between Christopher Columbus and New World:

The Conquerors were                    and The civilizations were                  and

A few Europeans came to dominate. What happened to the Native population?

Some Proximate Reasons:

h. Technology:

2. Disease:

Effect of these diseases:

Also duplicated in

3. Political Organization / The Sailing Ship (transportation)

4. Writing and ability to produce maps and

Part Three: How domestication of animals proved easiest for Europeans
Another Question: Why did these proximate advantages go to the Old World rather than the New?

Why does Eurasia have the "nastiest germs'? Why the gross imbalance:

1.

2.

Examples: Measles:

Influenza Smallpox:

Malaria

The Americas had very few "domesticated" animals. Therefore

The Species to be domesticated:

In the Americas: the animal/bird population

BUT Pre-requisites for Domestication:

1.

2.

3.

4.

5.

6.

Most potentially domesticated animals/birds have already been tamed'. Why Eurasia:

Pre-existing difference:

What was left for the American Indians:

Domestication of Plants:

Eurasia's main axis (east/west) meant

Americas axis (north/south) meant
Other reasons for the importance of Eurasia's domestication of animals/plants:
1. Calories:
2. Density of population:

3. Effect on Land Transport and farming:

4. Surplus in agriculture and its effect on social organization:

5. Technology • Dr. Diamond's'Conclusion:

Part Four: Where Africa fits into the scheme
History of Sub-Saharan Africa- more isolated from Eurasia.

Why Europeans conquered here:

Proximate factors:

1.

2. Africa had a longer development?? Africa should have the advantage! Biogeographic Differences:

1. Domesticated Animals:

Some factors that disqualified Africa's large mammals:

What about a cavalry of rhinos!

Livestock in Africa came from

Africa's axis (north/south)

Problem with the axis in Plants:

Food staples of ancient Egypt:

Require:

Couldn't go beyond Ethiopia:

Needed: Domestication of other plants such as Dr. Diamond's Conclusion for Africa:

Part Five: Australia tests theories about evolution of human societies
In modern times, Australia still had

Therefore: it is a critical test Native Australia had no

Beyond the level of the tribe or band.

What destroyed Aboriginal Australian Society?? Why? Three Obvious Reasons:

1.

2.

3.

A Look at Tasmania: An extraordinary human society! Some important physical characteristics:

Tasmanian Aboriginals lacked:
Their only tool Tasmanians couldn't

Why such an enormous gap? Fact: originally,
Consequence of the loss of the land bridge:

Study of Tasmanian history is the study of

Effect of having such a small population:

Tasmanians and Technology:

Examples:

What sense can be made of these "cultural losses"?

1.

2.

3. Dr. Diamond's conclusion about the differences between Tasmania and Australia:

Part Six: Environmental differences outweigh biological differences
Some things left out or not dealt with sufficiently:

1.
2.                  ,  •
3.

4.

5.

?
His Important Conclusion is that - The Broadest Patter of History: Seems to be attributable to

In particular:

1.

2.

3.

4.

5.

6. Warning from a look at Tasmania and Australia:

The word "science" really means (in the Latin) Therefore, in science we seek knowledge by

Dr. Diamond's conclusion why we should be "optimistic" that we can arrive at a "convincing explanation of the broadest patterns of human history??
